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CERTIFICATE IN WATER HARVESTING AND 
MANAGEMENT (CWHM) 

Term-End Examination 00770 
December, 2015 

ONR-003 : WATER HARVESTING, 
CONSERVATION AND UTILIZATION 

Time : 3 hours 	 Maximum Marks : 75 

Note : Attempt any five questions. All questions carry equal 

marks. 

	

1. 	(a) What are the factors on which construction 	5 
of water harvesting structure depends ? 

(b) List various structures used for storage of 	5 
harvested water. 

(c) Explain the importance of plastic lined 	5 
ponds for water storage. 

	

2. 	(a) What are the benefits of ground water 	5 
recharge ? 

(b) Calculate the run-off from a bare area of 	5 
20 ha if the total rainfall of 175 mm is being 
recorded for that area. Assume run-off 
coefficient = 0.20. 

(c) List different artificial recharge methods 	5 
suitable for rural areas. 
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3. 	(a) Under what conditions is the sprinkle 	5 
irrigation system adopted ? List its 
advantages. 

(b) Describe critical growth stage of crops and 	5 
its affect on crop yield. List the phenological 
stages of wheat crop. 

(c) List the water harvesting structures 	5 
recommended for Southern Variable 
Rainfall Mixed Zone and for Western 
Malabar regions. 

	

4. 	(a) Under what conditions, are the water 	5 
harvesting structures for crop production 
constructed ? 

(b) Why is purification of harvested water 	5 
required for drinking purposes ? What are 
the various common measures for 
purification of water ? 

(c) What are the factors to be considered for 	5 
selection of size of storage tank for rural 
areas ? Describe the procedure for 
determining the size of storage tank. 

	

5. 	(a) Explain the different components of roof top 	5 
rain water harvesting systems using a line 
diagram. 

(b) Describe in brief the diversion bund for 	5 
storage of run-off water. 

(c) With the help of a neat diagram, explain 	5 
the Bandharas for surface water harvesting. 

	

6. 	(a) List five important considerations for 	5 
designing the ponds. 

(b) Explain cement concrete lining of control of 	5 
seepage loss in ponds. 

(c) Describe the construction of earth fill dam. 	5 
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7. 	(a) Describe the five important interventions for 	5 
industrial water conservations. 

(b) List different measures for reducing water 	5 
losses in water supply and sanitary fittings. 

(c) List the various measures to reduce water 	5 
losses and conserve soil moisture in 
agriculture. 

	

8. 	(a) What is irrigation efficiency ? Describe the 	5 
types of water losses that occur in the 
irrigation system. 

(b) Express water application efficiency with 	5 
the help of an equation and define its terms. 

(c) Compute the domestic water demand for 	5 
20 persons during a dry period of 30 days 
considering per capita requirement as 70 
litre per day. 
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1. 	(a) 	7' t11:1 411 fl(11-11 -1 1 1-1 ul, Ill -1T-41R -fi lifT 	5 

cticti t? 

(b) tiiiraa 	* ilt117 tg WIWI' raratT .ft -ta-1t3t1 	5 

t-al A-91-47 I 

(c) Tc&t iltRuf* ics-R wrrftz* -  cii*P-ifl ai(% 	*t t 	5 

i-icci 	auk *11771 

	

2. 	(a) 
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(b) 20 tqa7 #-Ich-  curl* aci 14 ctiArt LiRcbroci 	5 
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3. (a) 5 roscbig f 	T 	Tr 14)-t 	3f-a-47 
37171 Aid') 

(b) th7:1 	WtdT (critical) 	W-2174 AT 5 
dy,Ti 	3,41-17 	 1)-st 

41(1 c11 tlf7T 	(phenological) 

32,n3 	TL-91- 	-9-r7 

(c) 5 -crrw:11-  4? 	 3-f-q-F 
1-110Isilk 4tt romprl -rrl .10 	4k-co-HA 

TL-4-  

4. (a) km-iri 30-114-I t IMv, rcb-i qkoff t 31717 Aci 5 

t1 	zId 4t*-113 	r f -417 f 	IT viIdI t? 

(b) 41a t -3*-47 	rid AO 	1 kjog chtuf f 5 

31771Tt? Aci-qjoglcnkut tfq-f-qg kip-11-g 374 

(c) 5 7riatur 	Fc-R 	e:c1,1 t 37-*-R t 
6 -1 	rt--*I TR fart crAll 3Tra-v-zrw 	t? 

rtur za.1*3Tm-T 	fiqkur chto 	cb 141cl RT 
u1-1 	11A7 I 

5. (a) 4 c 7,sfi7 	411 	trea. 	fdf 	1 5 

aul.i (1W1 -k(gIrmii 	-1-17-R 

(b) 1 -K1 9#TTEIT 	kcbi4RIcif 	#01- 14 5 

ciu -1 	I 

(c) TEd7 '31 	-ci 	t- 	ilt-RT WE auk, kii41 5 

.ktglr-ciA 1f -A7 I 
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6. (a) 5 Tcltal f91:6-7 	r5:311-0 	4121 	uf 
ForciRut 	-f4s3ff 	TL-9 

(b) 5 f 	-ftTrrq-qfu 	f4-A-ur 	TrITiz 
3T7R-ur .wr auk ttr--A- 

(c) fgra_,th 	'0 (earth fill) 4tq t f9TfiuT 5 

--1-F—A-7 I 

7. (a) 3ftr-rrT 	#wur 	3Td:r 5 
auk 	"1-F—A7 I 

(b) ui M t fcbtatrr 14 AO qrat 5 

4,44 t-T-4 t faf79-r-z4 ct>1 

(c) Tftf 11 AO qr—dt 	*41 	-T-4 AT lq1-14) t 5 

TI'TkTuT 	fqfqq 3crit chi TOI.  e4-W I 

8. (a) fttq'T 	WaT qzrr t ? 	 -fttqr1 	30-1 ,--1 \TICI 5 

t -9trff 	t-1-117 I 

(b) 31TIOT 5 

31-firm7r 	-517p7 LK). 	trftiTrrisru 
ttr--A7 

(c) 30 R-i at) 	Tch 3-Tafq 	q1(1-1 20 cq ctcfq •  5 

ift 4111r LIRehroci --1-F--A7 Trri 
-9-f-d-ka.  ro 	 Ohl 70 Ridk 41-11 1h1 :51.(1 

t I 
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